1
<0

—

1) Oi M2t O]

NEURY

ot

tCt 0]2{3

Ofst{of &

F

oFAL2} A

ccL
o el

f

A

mEK=)

JZEAH =EAl

ok

iof)
MU

=
ion
30
JJ
[}

&

A}k

o0

ol
NF

o
837

SOl LtEte

A

HOF 5t04, O]

5

SOl thall A1S5] 2LIE-ES

IF

of

Ij

LoX=)
o=

O|2 I 2mM(12 2400mg) At

2F
S

to{0Fst0 L&

ol

Ct.

b

__0._

4o Of

Al
—

ZH(1Y 2400mg)0| H

T 2T A OJLI2H(O]. 1

b2t

5}

1200 mg 0|

Ql
=2

A =284l

)

olo
o
<0

C}. 0]2{3 O]

o3

<+
Jn

I.

SO0| LIE

Klo

H|AE| 20

ALoj| A=

2t

tO{OF ST

5}

S 1

2= 4|

2

e gle O

r
—

)2 E A2t

(o]
[=)

St
o

(

S

Ul

o
|
ot

ol
T0

1

u
u

ol
il

_z_.=._

o7

<0
il
o
<0



U =)
Uk = <)
S e
= D ojy
& al or
5] < o
o © _ul_
i H H
= = . ™
2. Y o ok
o0 i~ J|J —
H =) LI
G of X o
X X o0 -
or o oo L_um_v OS¢
< X - X0 ol
) gu Y )
< o0 L s
DR 8o o Now 2
X X - v BU <
@ ol R_ .M..ﬁ_u - AD_H < = of =
= DU X S 3z ow  = O
o — I ©  ~ =] = ™ hril F
< O Ko M O o L. X S R
K@ o T oz W o W 5z < n
B w0 oy A4 5 w oW XX g L >
0 m oz bom 2w Fa o
30 = M uw el T - ol s = =
T G R A ] XK T g I 53 S XK
™3 Y 0 ol — =1 o W.AH aa = ) ol <V o ilof
o = <0 < Ral (@] [ie) An_ llo -— K (@]
XWX 5 HE X iy oo ol = = $ A
o oo 3 oy b~ oF 1 X T mow =~ @ of ot
|_I_|_ o3 @ Im.m it _w_Ho N4 w| 1 = _|_|_ la) U 0o J)J 2 o o [\
o< = - — o L — = o - Nfo or = H ™ mr iof]
bl o iy 0] — O bl ol ) ] o3 4 u o
s @ J 0 o Zw 3 W 5 4 oW @ 5z o@m ¥R G
o B = AU o= a = [y W OF i o o iy
i u] N = o ni0 W] _2._ A_ _ll_ A_l ol mr = 1 _|l_ K
o M == o N o oo S5l = = 0 X J <0
~ (T H = o ol o N = ) i ol [l
~ o o O M o ™ W ¥ —_ L H g J
" R < m = - . W] 0 T n JJ o3 e 2 -
o W =~ T T 9 o KOy S H < m_ I
ion < o = N o N fill oo Ul - [®) = o~ I+ X
oo N~ M = oo oW 01 o = o o o T~ S - A S -
L i K H D o U & & 2l AT M x0 AW 5 mo o@ M = g
ijo] o = < _ ofl =y = _._.__l Q O__._._ ol = O_H O“_ —_ = - o} = o °
<0 = N s — ] ol 100 4 e ulue = 5 ol wﬁ.o ~O O el
g . . Y =) — W_E ~ o o 0 5 ) 0|0 ol ] ~ <4 <0 El
© ~ o o - — of — o — ~ ™ ol — ~ ™ < n ©

|
4.t
)
)
)
)
)
)



o
T

10) 32

SHA]

ooz EY

of
LS

Z|0f UA|

12) YF (s=20|M EfR=d0] 2= )

Sttt)

~I
0

I

b 240] bt

o8

If
OF

13) =

14)

A= 0j| A O] FLZHI M} OFATI 2 (OFA|

e

[
[=]

A
=2

A0

=84

=2

UL LIEFGTL, Of H|0J& 2| &0l Chsl Y& =

JOIMO| ZEAEIS

I.

=
=)

H(

Aol M F2M|0|= L 2|OLAA| O] =A|2f LIEF kB

o
[

@ ZE2M|0|E L 2|OFAIAH| O]\ A (UAFAIE L Al

o)

IF
oll

110

H

A|of| 2|

or
X0
ol
ud
d

A

F

t

| B EEAM

20
=

@ O EEHMOIE (MM 2t (LM 2ol A HEENO|EL| B E0| Z[HEZ[Of 2|H

tEsot= LEFO| HEEAMMO|EQI= BE&

ofiOF BtCY)

153 F0

E)F0otA| F20, HEFO| HEEAMO|E} HE(EH =E)F0H Al A

1=}
=

=
__o:
N~—

S

|

(

® S0t

HEAL

panl
O

H 28 Al

b

S
[=]

AX|AI(SSRI,

® HMEH M2EY 35



T
o

4
Ui
oh
i

3)

EZ(AGEP)

Ho

30

8) &Z7|Al -



£7) Ol AR|2E

(1) 7=t BI=(

-

<0
Jo

~d

-

<0

=
4

~d

(5) 2IEA Ol4: oA

ar
foln
__O._

o[

4o

(DN
|0

__O._

ol

6. 7|Et O]

otCt.

S|

Lt =24 0]2/9] A= E 1

ST

2ldo=z 52 O|L=

2| &1
A

a0 ¥



o)
-t

gl

Par
<

1o
p
_z_.o
ujn
<0
ol
__o_|
oo
Ir
1

OF

=~}

J

P

e]3
2

= UGt R[OFAA| O )= A| EE= £

A
s

==
=

o] 7t

or

HOF ST

[

| &0

Ko

Al
—

A0 A

(11) HIAH|IZ0]

HAI(AAA)E

[

/s £ A}, Ol ALt ACE A

s

f

A

o1

H

on

ol

5

Sf{OF otCtH,

IHA|

=2
=

o=t O] ol &0

=R

3

~0
Yl

|

Of ofo| &047t

RE

5

Ao| CH

Al
=

0=

St
>

(

2|27} 2|50 theh o shE ALt

g

2=

A
e

At

=4 22| UCEH



__o_l
~O

o)

Ui

F7tZ| =2 Of

O LtEt

3

]

=

2812| £ §0E2 2

=2
T JUH2= A1 2|£7(2H0] Z20

=1

)2l S A=t BF

ol =2

| 2L{&{3 5t0{0} it

—

—

=5

M A (5 ZIEH | £0i2 ¥l
0] o E0iA| I

7} LEHLHE 220

—

—

FX}

2

ol

O HIS A [
=2 Cc2 T M

R

—

2 A0
o™

=]

L=

H|AE| 20|

=
o

Sd2 OtAI|ZI0|LE T

St
=

Ct. ol2{3t 2

(o]
AX

X

)

[N
__o_l
~O
ol

-

N[0

i~y

ul

J

(M)
()

]l

iy

FALE

o

dl

A2 0 SHE2 T2E[ZAH 20

CHA

=

=

ZFZ

ALOl|A| A 2L

b

ol

E

A|7{OF BtCt.

F

e AF=E Al O FeY

(17) O] %2 R2E|ZO0|= H|A|

Ct D2E|ZAHZ0|=9]

(18) Of

2) 2FEO AL 23

0]

o

3

S
—_

off cH

od
T

<

IF

al

o]
[=]



B|20/=d 2G|

Ea

Ct.

A8A[ZE O[LAjof

(=3

FEY + A0 Z20 T2tA
T

U4 a3
(NSAIDs) ZHA|

=~}

(o]
i

o

a

F

tLt, ot

o

|=0l 7=

=)

2 50 ST Al

<0
4

(@)
Jo

%I:

AtA|Of| A

=3

T 5

I

EIEWN

T
—

—

7
—

uJ

ol

OfLt

FAl

on
1

=2

Of| tck



